

$$\int \frac{1}{\sqrt{x}} + \frac{2}{\sqrt[3]{x}} + \frac{4}{\sqrt[5]{x}} dx = \int \frac{1}{\sqrt{x}} dx + \int \frac{2}{\sqrt[3]{x}} dx + \int \frac{4}{\sqrt[5]{x}} dx =$$

$$= \int x^{-1/2} dx + \int 2 \cdot x^{-1/3} dx + \int 4 \cdot x^{-1/5} dx =$$

$$= 2\sqrt{x} + 3(\sqrt[3]{x^2}) + 5 \cdot \sqrt[5]{x^4}$$

$$\cancel{2} \cdot \frac{3}{2} x^{2/3} = 3 \cdot x^{2/3} = \sqrt[3]{x^2} = (x^2)^{1/3}$$

ΔOKIMH

$$\left(\frac{2}{3} x^{3/2}\right)' = \frac{2}{3} \cdot \frac{3}{2} x^{3/2-1} = x^{1/2}$$

$\sqrt{x} = x^{1/2}$
$\frac{1}{\sqrt{x}} = x^{-1/2}$
$\sqrt[3]{x} = x^{1/3}$
$\frac{1}{\sqrt[3]{x}} = x^{-1/3}$
$\sqrt[5]{x} = x^{1/5}$
$\frac{1}{\sqrt[5]{x}} = x^{-1/5}$

$$\int x^2 \sqrt{2-3x^3} dx =$$

$$\int \sqrt{u} \cdot \frac{du}{-9} = -\frac{1}{9} \int \sqrt{u} du =$$

$$= -\frac{1}{9} \int u^{1/2} du = -\frac{1}{9} \cdot \frac{2}{3} u^{3/2} + C$$

$$= -\frac{2}{27} (2-3x^3)^{3/2} + C = -\frac{2}{27} \sqrt{(2-3x^3)^3} + C$$

ΘCTO ✓

$$2-3x^3 = u \Rightarrow$$

$$\frac{du}{dx} = -9x^2 \Rightarrow \boxed{du = -9x^2 dx}$$

$$\boxed{\frac{du}{-9} = x^2 dx}$$

ΔOKIMH

$$\int x^{-1/3} dx = \frac{3}{2} x^{2/3}$$

$$\left(x^{-1/3}\right)' = -\frac{1}{3} x^{-4/3}$$

$$(x^n)' = n \cdot x^{n-1}$$

$$(x^{2/3})' = \frac{2}{3} \cdot x^{-1/3}$$

$$\left(\frac{3}{2} x^{2/3}\right)' = \frac{3}{2} \cdot \frac{2}{3} x^{-1/3}$$

$$n-1 = -1/3 \Rightarrow n = 1 - 1/3$$

$$n = \frac{2}{3}$$

$$\int x^7 \sqrt{x+1} dx =$$

$$= \int (u^2-1)^2 \cdot u \cdot 2u du =$$

$$= \int (u^2-1)^2 \cdot 2u^2 du =$$

$$= 2 \cdot \int u^2 (u^2-1)^2 du = 2 \cdot \int u^2 (u^4 - 2u^2 + 1) du$$

$$= 2 \cdot \int u^6 - 2u^4 + u^2 du =$$

$$= 2 \cdot \left[\int u^6 du - \int 2u^4 du + \int u^2 du \right] =$$

$$= 2 \cdot \left[\frac{u^7}{7} - 2 \cdot \frac{u^5}{5} + \frac{u^3}{3} \right] + C =$$

$$= \frac{2}{7} u^7 - \frac{4}{5} u^5 + \frac{2}{3} u^3 + C =$$

$$= \frac{2}{7} (\sqrt{x+1})^7 - \frac{4}{5} (\sqrt{x+1})^5 + \frac{2}{3} (\sqrt{x+1})^3 + C =$$

$$= \left[\frac{2}{7} (x+1)^{7/2} - \frac{4}{5} (x+1)^{5/2} + \frac{2}{3} (x+1)^{3/2} + C \right]$$

04.10

$$\sqrt{x+1} = u \Rightarrow (x+1)^{1/2} = u.$$

$$\Rightarrow x+1 = u^2 \Rightarrow \frac{du^2}{du} = 2u \Rightarrow du^2 = 2u du$$

$$\Rightarrow dx = 2u du.$$

$$x = u^2 - 1 \Rightarrow x^2 = (u^2 - 1)^2$$

$$\begin{aligned} x^a \cdot x^b &= x^{a+b} \\ (x^a)^b &= x^{ab} \end{aligned}$$

$$\int 3x \cdot \sqrt{1-2x^2} dx =$$

$$= 3 \cdot \int x \cdot \sqrt{1-2x^2} dx =$$

$$= 3 \cdot \int -\frac{1}{4} \sqrt{u} du = -\frac{3}{4} \int \sqrt{u} du =$$

$$= -\frac{3}{4} \int u^{1/2} du = -\frac{3}{4} \cdot \frac{2}{3} \cdot u^{3/2} + C$$

$$= \boxed{-\frac{1}{2} (1-2x^2)^{3/2} + C}$$

$$-\frac{1}{2} (1-2x^2) \cdot \sqrt{1-2x^2} + C$$

$$= -\frac{1}{2} (1-2x^2)^{3/2} + C \checkmark$$

0 ← 0

$$1-2x^2 = u \Rightarrow$$

$$\Rightarrow \frac{du}{dx} = -4x \Rightarrow$$

$$\Rightarrow du = -4x dx$$

$$\Rightarrow \boxed{-\frac{du}{4} = x dx}$$

$$\left(\quad \right)' = u^{1/2}$$

$$n-1 = 1/2$$

$$n = \frac{3}{2}$$

$$\left(u^{3/2} \right)' = \frac{3}{2} u^{1/2}$$

$$\int \frac{x^2}{1-2x^3} dx = \int x^2 dx \cdot \int \frac{1}{1-2x^3} dx$$

$$\boxed{x^2 \cdot \frac{1}{1-2x^3}}$$

$$= \int \frac{\frac{du}{-6}}{\frac{u}{1}} = \int -\frac{1}{6} \cdot \frac{du}{u}$$

$$= -\frac{1}{6} \int \frac{du}{u} = -\frac{1}{6} \int \frac{u'}{u} du =$$

$$= -\frac{1}{6} \ln|u| + C =$$

$$= \boxed{-\frac{1}{6} \ln|1-2x^3| + C}$$

$$\frac{\ln|1-2x^3|}{-6} + C$$

$$\frac{D(u)}{u} \Rightarrow \frac{du}{dx} = -6x^2$$

$$du = -6x^2 dx \Rightarrow \boxed{\frac{du}{-6} = x^2 dx}$$

$$\int \frac{x+3}{(x^2+6x)^{1/3}} dx = \int \frac{\frac{3}{2} u^2 du}{u} =$$

$$\frac{3}{4} u^2 + C \checkmark$$

$$= \frac{3}{2} \int \frac{u^2}{u} du = \frac{3}{2} \int u du =$$

$$= \frac{3}{2} \cdot \frac{u^2}{2} + C =$$

$$= \frac{3}{4} u^2 + C =$$

$$= \frac{3}{4} \left((x^2+6x)^{1/3} \right)^2 + C =$$

$$= \frac{3}{4} \cdot (x^2+6x)^{2/3} + C \checkmark$$

Definiere
 $(x^2+6x)^{1/3} = u$

$$x^2+6x = u^3$$

$$(2x+6) dx = 3 \cdot u^2 du$$

$$\cancel{2} (x+3) dx = \frac{3 \cdot u^2 du}{2}$$

in 160 Seiten

$$x^2+6x = u$$

...
...

←
✓